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212 00 
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a 5ubisiact 39.56 kg nom 100ko 
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39.56 
6 0, 44 Ans- 60.4 kg 

b By how much 2S.36 m19 more than 5.e5 mP 

The disSenence between 25.36 m ond 1585 mis 
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So, 25. 36 m is 951 m more than 15.es 

)By haw much is the Sum of 27.35kL 
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Quotient 0. 044 Km 

L Km looo m 

O.044 Km l000 X0.04H 44 m 
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Quoiient: 0.o07 L 

1L= 1oo0 mlL 

0.007L 00.0 X 0.007 E 7 ml 
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TUESDAY 

5 MnSohan aeguines 3.05 fes of petzol e 

Fan his caz 

No of days in a month- 30 days 

So petnal used by Mn Sohon in amonth is 

3.05 

X30 

+91 5 X 

1.5 o 

Petnol cost Rs.67.90 pen liten 

Sa, total amount spent by him D pefnol evêzy manth 
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36212. 95 

6 Hatel needs 165 litznes af milk evezy day 

Days in a week =7 

So the quantity of milk hotel tequires 1S 

65 

55 
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Cost of milk is 31 50 pez litne. 

So money spent on Tnilk by the hotel owner 

is 

5 5 

X 3L5 

577 5 
55 X X 

3 6 5 X XX 
3 6 3 2 50 
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